;> restart
> EcuaDerParc = diff (z(x, y), x$2) — 8-diff (z(x, y),y) =0

2 0
EcuaDerParc .= — z(x,y) — 8 (— z(x, )) =0
] e y o y
| > with(PDEtools) :
> pdsolve( EcuaDerParc)
2
(z(x,y) = _FIl(x) F2(y)) &where H% _FI(x)=_c|_FI(x), diy _F2(y)

Z%_cl _FZ(y)H

> SolDerParc = build( %)

1
1 — ¢y
¢ X — cy 81
SolDerParc :=z(x,y) =e‘/—l _C3 et ! Cl+ C3e 2
] . _c1 X
;> restart
> EcuaDerParc = diff (z(x, y), x$2) — 8-diff (z(x, y),y) =0
] EcuaDerParc := % z(x,y) — 8 (% z(x,y)) =0
_> Ecua := subs(z(x,y) =F(x)-G(y), EcuaDerParc)
0
Eeua=-E (F(x) G(y)) -8 (— (F(x) G(y))) -0
| v &
> EcuaDos = lhs(Ecua) — ( —8 (% (F(x) G(y)))) =rhs(Ecua) — (
0
-8 | — (F(x) G
( 5 () 0] 2
d d
EcuaDos = (E F(x)] G(y) =8 F(x) (d_y G(y))
i ._ Ihs(EcuaDos) _ rhs(EcuaDos)
7S TR G0 F-GO)
d
w2 P s[5 awm)
EcuaTres = = dy
L F(x) G(y)
> FEcuaX = lhs(EcuaTres) = a;, EcuaY = rhs(EcuaTres) =a
2
d—2 F(x)
_ _dx _
EcuaX = Fix) =a
I
EcuaY = C);(y) =a

> SolXcero = dsolve(subs(a =0, EcuaX) )
SolXcero=F(x)= Clx+ C2
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SolYcero := dsolve(subs(a =0, EcuaY) )
SolYcero .= G(y)=_CI

SolGralCero = z(x,y) =rhs(SolXcero) - (subs(_CI =1, rhs(SolYcero)))
SolGralCero =z(x,y)= Clx+ C2

SolXpos = dsolve(subs(a=b--2, EcuaX))
SolXpos .= F(x) =
SolYpos = dsolve(subs(a=b--2, EcuaY))

Cle ™™+ 2

1
30
SolYpos = G(y) = Cle
SolGralPos = z(x,y) =rhs(SolXpos) - (subs(_CI1 =1, rhs(SolYpos)))
-bx bx % bzy
SolGralPos =z(x,y) =(_Cle "+ C2¢"") e
SolXneg = dsolve(subs(a =-b--2, EcuaX) )
SolXneg .= F(x) = _Clsin(bx) + C2cos(bx)
SolYneg = dsolve(subs(a =-b--2, EcuaY))
ﬂé@y
SolYneg .= G(y) = _Cle
SolGralNeg = z(x,y) =rhs(SolXneg) - (subs(_CI1 =1, rhs(SolYneg)))

1
LN
SolGralNeg :=z(x,y) =(_Clsin(bx) + C2cos(bx))e 8
restart
EcuaDerParc = diff (z(x, y), x$2) — 4-diff (z ),y) =z(x,y)
0
EcuaDerParc := iz z(x,y) —4 (— z(x,y) ) =z(x, y)
ox dy

Ecua = eval(subs(z(x,y) =F(x)-G(y), EcuaDerParc))
2
Ecua = (d—z F(x)] G(y) —4 F(x) ( (?y

Gly )) —F(x) G(y)
dx

EcuaUno = [hs(Ecua) — ( —4 F(x) (diy G(y))) =rhs(Ecua) — ( —4 F(x) (diy G(y)
2
EcuaUno = [d—z F(x)) G(y)=F(x) G(y) +4 F(x) ( 51 G(y))
dx 4
—_lhs(EcuaUno) g rhs( EcuaUno
EcuaUnoUno = F(x)-G(y) Zlfy( )

d2
2 P Gy +4 (di G |
EcuaUnoUno := = )

F(x) Gy
EcuaDos := lhs(Ecua) — ( —4 F(x) (diy G(y)) +F(x)-G(y)) =rhs(Ecua) — (
—4F(x)(:11y Gly ))+F )

2
EcuaDos = (% F(x)) G(y) —F(x) G(y) =4 F(x) (— G(y))
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> EeuaDostno = simplf V5B ) —simpis{ 15 St |

L
F(x) — [—2 F(x)j 4 (i G(y))
EcuaDosUno := - dx = dy
I | F(x) G(y)
| > with(PDEtools) :
> SolGral = pdsolve( EcuaDerParc)
2
SolGral .= (z(x,y) = _FI(x) F2(y)) &where H% _Fl(x)=_¢, _FI(x), diy _F2(y)
. c, F2( )—i F2(y)
> SolGralFinal = build(SolGral)
1 1
1 1 Ty =y
[ ¢ x —yc -—y 4 1 4
SolGralFinal :=z(x,y) =e ! _C3 e4 e 47 1+ (e © &
c X
J 1

> Comprobacion = eval(subs(z(x, y) =rhs(SolGralFinal), lhs( EcuaDerParc)
-rhs(EcuaDerParc) =0))
Comprobacion :=0=0
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